
GEN30NG-GEN30LP
Parts List

01-August-2008

This parts list is current as of the above revision date.
See http://www.rheempartslists.net/92-42801-GEN30NG-GEN30LP.pdf for the current revision.

Standby Generators

Form No. 92-42801-GEN30NG-GEN30LP

http://www.rheempartslists.net/92-42801-GEN30NG-GEN30LP.pdf


Page 7 of 14

01-August-2008
92-42801-GEN30NG-GEN30LP

No. Notes
MODEL
OUTPUT CAPACITY
SERIES

GEN
30

NG/LP
ENCLOSURE PARTS

86   Pad - Mounting w/Holes 197275GS
87   Base - Mounting X203030GS
88   Assembly - Bulkhead - Engine End 204012GS
89   Assembly - Door - Engine End 202107GS
90   Assembly - Duct - Engine Air CALL
91   Assembly - Support - Rail CALL
92   Hex Head Screw - Trilobular - 1/4-20 x 1/2 CALL
93   Bushing - Snap - 2 in. CALL
94   Bushing - Snap - 1-1/2 in. CALL
95 Stk Regulator - Voltage 198338GS
96 2 Hex Head Cap Screw - 3/8 - 16 x 1 N/A
97 2 Washer - Flat - 3/8 - M10 N/A
98 2 Washer - Lock 3/8 N/A
99 2 Nut - 3/8 - 16 N/A

100   Assembly - Door 202108GS
101   Seal - Foam - Engine Air CALL
102   Hex Head Screw - Trilobular - #8-32 x 1/2 CALL
103   Mount - Tie Wrap CALL
104   Retainer - Hose 192940GS
105   Seal - Foam - Alternator Inlet CALL
106   Assembly - Roof/Siderails 202109GS
107   Assembly - Bulkhead - Alternator End 203085GS
108   Decal - Caution Hot Muffler CALL
109   Insulation - Engine Door - Bottom 203303GS
110   Assembly - Vent - Exhaust 198926GS
111   Plug - Dome 198460GS
112   Assembly - Vent - Alternator CALL
113   Seal - Foam CALL
114   Cover - Air Intake Engine 194694GS
115   Insulation - Engine Door - Top 203302GS
116   Seal - Foam CALL
117   Insulation - Front/Rear Door 196397GS
118   Insulation - Roof CALL
119 Stk Kit - Door - Hinge 198890GS
120 Stk Set - Latch Key 194828GS
121 Stk Kit - Door Latch 198889GS




